CITY OF BROOK PARK, OHIO

ORDINANCE NO. 11350-2023

INTRODUCED BY: MAYOR ORCUTT

P/C 8-22-23	Service
OA 8-22-23	
18/ 1	
2nd R	
3rd R	and the second
BIG	***************************************

AN ORDINANCE AMENDING ORDINANCE 11323-2023 TO INCLUDE ELMDALE ROAD AND CYNTHIA DRIVE FROM FRY ROAD TO ROBERT DRIVE TO THE GENERAL PAVEMENT SERVICES PROGRAM AND DECLARING AN EMERGENCY

NOW THEREFORE, BE IT ORDAINED by the Council of the City of Brook Park, State of Ohio, that:

<u>SECTION 1</u>: The 2023 Equipment and General Pavement Services Program shall be amended to include: Elmdale Road, Cynthia Drive from Fry Road to Robert Drive.

SECTION 2: Any funds left over from asphalt resurfacing will be utilized under the A-3 #1 Misc. Joint Repairs - Municipal Parking Lots - Crack Seal, (Fund 242).

SECTION 3: It is found and determined that all formal actions of this Council concerning and relating to the adoption of this Ordinance were adopted in an open meeting of this Council, and that all deliberations of this Council and of any of its committees that resulted in such formal action were in meetings open to the public in compliance with all legal requirements, including Section 121.22 of the Ohio Revised Code.

SECTION 4: This Ordinance is hereby declared to be an emergency measure necessary for the immediate preservation of the public peace, health, safety of said City, and for the further reason that City Council deems it necessary to amend the 2023 Equipment and General Pavement Services Program to include Elmdale and Cynthia from Fry to Robert, therefore, provided this Ordinance receives the affirmative vote of at least five (5) members elected to Council, it shall take effect and be in force immediately from and after its passage and approval by the Mayor; otherwise, from and after the earliest period allowed by law.

RECEIVED
AUG 17 2023

RROOK PARK CITY COUNCIL

CITY OF BROOK PARK 2023 ROADS AND WATERLINE REPLACEMENT **PROGRAM** (COST ESTIMATES)



(Fry to Robert)

Elmdale

Cynthia

\$1,420,000.00

\$281,230.84

\$145,635.84

	Parkland			
•				
•	Crestridge			
4	Christene			
•	Southway	(Edgehurst to Fry)		
*	Rademaker	(Delores to Smith)		
٠	Delores	(Snow to Hummel		
•	Wengler	(Doris to Shelby)		
•	Van Wert			
4	Starlite		Total	\$954,891.79

PROPOSAL



CROSSROADS ASPHALT RECYCLING, INC

13421 HAWKE ROAD

COLUMBIA STATION, OHIO 44028

Phone:

440-236-5066

Fax:

440-236-3506

Quote To:

City of Brook Park

Job Name:

Elmdale Rd.

Attention:

Mr. Brian Beyer

3" Mill, Chip, Pave

Alternate Partial Depth Repairs

Email:

bbeyer@cityolbrookpark.com

Date:

6-8-2023

Proposal:

2310035

City of Breek Park

2023 General Pavement Services

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
10	Labor/Equipment/Trucking needed to Mill & Pave	1.00	HRLY	120,875.00	120,875.00
	Single Chip Scal	7,338,00	SY	2,28	16,730.64
30	Asphalt Intermediate Course	314.00	CY	159.00	49,926.00
-\$()	Asphalt Surface Course	314.00	CY	165.00	51,810.00
50	Tack Coat	734,00	GAL.	3.80	2,789,20
ત્તા	AUT- Partial Depth Repair (Labor/Equipment/Trucks)	3,4691,60	LF	4.75	16,150.00
IK.	AET- Partial Depth Asphalt Material	45.00	CY	510,00	22,950 00
SÚ	AET- Full Depth Repair (Labor/Equipment/Trucks)		HRLY		
411	AET: Full Depth Asphalt Material		CY'		100

GRAND TOTAL \$281,230.84

NOTES:

- *This proposal is a unit price bid
- *Final field measurements and hours will prevail on unit pricing listed above for final billing.
- *All signage, barricades and traffic control by included.

SCOPE OF WORK-

- *Mill the existing asphalt/concrete pavement to a depth of 3.0° and remove from site.
- *Sweep clean free of all dust and debris.
- *Determine partial depth or full depth repairs.
- *Install single chip seal.
- *Install ODOT #448-1 intermediate asphalt to a compacted thickness of 1.50°
- *Apply ODOT #407 tack coat at a rate of .10 gal/sy.
- *Install ODOT #448-2 surface asphalt to a compacted thickness of 1.50"
- *Gutter seal all curbs and castings with ODOT Type IV scaler.
- **NOTE- All repairs are for estimating purposes only and may increase or decrease based on pavement evaluation after milling, and/or proof roll.

PROPOSAL



CROSSROADS ASPHALT RECYCLING, INC

13421 HAWKE ROAD

COLUMBIA STATION. OHIO 44028

Phone:

440-236-5066

Fax:

440-236-3506

Quote To:

City of Brook Park

Job Name:

Cynthia Drive

Attention:

Mr. Brian Beyer

3" Mill, Chip, Pave

MOMON

· ·

Date:

Alternate Full Depth Repairs 8/14/2023

Email:

bbeyer@cityothrookpark.com

Proposat:

2310063

City of Brook Park

2023 General Pavement Services

TEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
10	Labor/Equipment/Trucking needed to Mill & Pave	1.00	HRLY	50,325.00	50,325.00
20	Single Chip Seal	2,128.00	SY	2.28	4,851.84
30	Asphalt Intermediate Course	95.00	CY	159.00	15,105.00
40	Asphalt Surface Course	95.00	CY	t65.00	15,675.00
50	Tack Coat	230.00	GAL	3.80	874.00
60	ALT- Partial Depth Repair (Labor/Equipment/Trucks)		LF		
70	ALT- Partial Depth Asphalt Material		CY		
80	ALT- Full Depth Repair (Labor/Equipment/Trucks)	1.00	HRLY	43,395.00	43,395.00
ดูก	ALT- Full Depth Asphalt Material	115.00	CY	134.00	15,410.00

NOTES:

*This proposal is a unit price bid.

*Final field measurements and hours will prevail on unit pricing listed above for final billing.

SCOPE OF WORK-

*Mill the existing asphalt/concrete pavement to a depth of 3.0" and remove from site.

*Sweep clean free of all dust and debris.

*Determine partial depth or full depth repairs.

*Install single chip seal.

*Install ODOT #448-1 intermediate asphalt to a compacted thickness of 1.50"

*Apply ODOT #407 tack coat at a rate of .10 gal/sy.

*Install ODOT #448-2 surface asphalt to a compacted thickness of 1.50"

*Gutter seal all curbs and castings with ODOT Type IV sealer.

**NOTE-All repairs are for estimating purposes only and may increase or decrease based on pavement evaluation after milling, and/or proof roll.

^{*}All signage, barricades and traffic control by included.

PASSED: August 22, 2023	PRESIDENT OF COUNCIL
ATTEST: Makelle Play APPROVED:	Ella Titt
Comment	8-22-2023 DATE

I, Assistant Clerk of Council for the City of Brook Park, State of Ohio, do hereby certify that there is no newspaper of general circulation in the municipality and that publication of the foregoing ordinances/ resolutions was made by posting true copies at five of the most public places in said municipality as determined by Ordinance No. 4838-1975; 42 Fire Station 22530 Ruple Parkway, 43 Fire Station 17401 Holland Road, Brook Park Library 6165 Engle Road, for a period of fifteen days.

Troyer
Mencini
Roberts
Scott
Coyne
Poindexter
Salvatore

I HEREBY APPROVE THE WITHIN INSTRUMENT AS TO LEGAL FORM AND CORRECTNESS.

DIRECTOR OF LAW